5') Etﬂ PIE} [hawhs Eifandg are E‘Iian 1 "he fi.gLIIES helu“l alung lui ﬂm as:,ll:l.ptl:IEE 3 h:
gl!'ﬂph Di ¥

-— .

¥ = fix} ¥ =gl

Using the graphs, detenmine approximate valyes (be the nearest integer) for each of the

following:
(a) f(gﬂﬂ@ ) g"f;{ﬁ}}@ © £ @
= -,J"I-" /;;j, s

.
@ st mﬂn@ (€ z{g"{SJ}"Q

6.) (15 pts) Determine the zerps (if any) and deseribe the behavior as « —* = of the following

functions: [N cxplanation necessary,]
. Hx+IH1-x) rxz - -
(a} fior= Dy & = Vzeres; _ ¥ = —/; yerd

Ax o fix) > —5

by glx}= (x 5 *ﬂﬁ’yaﬂﬂ’ﬂ”:z_z.;-f zeros: __ e,
.

(z+2)
A= gfi) T
fe) A= -2x(e-3(x+4) mtos: Y=o poo 3 ¥ ~F
el M—;&P}Ezﬁgﬁf
,ﬁ:@a/ﬂ— @-—fﬁf’ &5 % — o Mx)—_ pdF
(dy Hx)=(x=2Y(3z+1 seras: Ve S,
a7 h’i"/j’?ﬂ# éxx
jg( ﬁdzﬂ:ﬁ:“b d’:d-':'—-f " “Iﬂﬂﬂ,ﬁxj—} et

() Using the function fmm part {d}, wnt¢ a formuia for mix), given
mix] = flx— 1), [¥o need to “expand,” but do simplify.]

??ﬂ"): éi’*f) —JB / A’“f.)v‘/)
= (- 3)3/3,15 —u:z) mfx}= /}5>ﬁé‘kﬁ)
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